nmibiuthugj 'n

R TRC—— ydnfmpmy gmhmUnufb ynmdghny N-G
pmhmpmdmpmuy 1 Juanybmdmumg

gufeugmhmihgn nyimdnfmamy. H
gwldwgmhmihgn gmhmungy, D

ugngmeg gmhmomolmy,

dmdmn]mng-dmhmhyu
Jobmhmumnjim gmidiudmhmumh
nmidiungmmdgmg ygmunmimg

dnfmpmy gmhmunufb ydnwhn -9
;maam__a_w_ gmhmlnufb Youime nduah -4
ydnimomy pmhmutufb Yhdola 4-b
ydnimpmy nmhmunufb UhyZdmug b-d
wnmuymm gy, J-N

UnUuy Byhmnmouymn

£
A IR
oL
2048 NTEN
6811
£6-1)/

A0 E_.w

PSR AT aad
v f\\,l\\mm ) mmw -m : -
e B B TR es el pey.
¢ s J‘ < J Ol 2
= U g e AT ek
e S D
re S A

gmpludu N-0681 N U-¥Z Yuqdpginhal
Upmhmhd gooz nmidiudmhmumh i
I N 9mplghmg

Jodbnhnsnt MNhnunJynnJdanuue
~danennne MNhnuAUEL J9NJNJINh Jednn dasuonbndn

ANEAHUSALNJINE YANSNNENE




Swybijywé N 2
33 Yunwywpnepjwl 2003 plwlwih
nbyintidpbiph 24-h N 1890-U npnptwl

uvtduiLvus8suuvy

FUSUUSULP IULPUMESNFE@3UL UPUSUSNSLP UUM2bk YULPULUTELP 33NFIULUL
3UUU3LRP JUMULUL UUIUULLENNEY GSLUNT MESULUL USOULULNFRSNFL 3ULAhUUSNA IN06PPS
LUPUMUTELP @3NFIULYUL IUUUSLRPL ULIUSNF3S
OnuuLsdNI IN6rk

Swiwylph
= ubthwlwbnipntlp
ZE hwinhuwgnn hnnting Mbtwluw
‘g 3 Annbph Gwwwwyuwiht Gawiwynipnilp i’ ubthwlwbnipintl
3 3 ‘ : nhg hwGnhuwgnn hnntipp
Rt pOnwdkGp sSwulw-
¢ dnnbgdnn
I Qyninuinfntiuwywl 1086.03 7.81
PGwywwnbnh 27.26 8.47 3.65
UpmyniGuiptipnipjw, pinsppoquiwigapsdwl L wjp 7.15
. wpnwypwlwd Gwbwynispul opjilinltinh '
tGtpgbnplwsh, wpwluwynpwnh, Guwyh b Yndniluwg 0.81 0.81 216
E:l Glpwlwenigwdéphbph optiinGph
[: Jusinnily wwhwwGynn inwpwépltiph 4.49 4.49 0.07
Jwinnty Gruwlwynipjwb
UGwwnuwha 57.69
D Qpuwighl ' 0.56 0.56
E:] Mwhniuwnuwght
Clnwikhp 112_6.30 22.14 63.57

Jwjwutnwbh Iwbpwwbinnipjub
Yuwnwywpnipjul w2uwnmwywaqih

nGywywp-owfuwpwp U. @nthnigjub



Jwybywé N 3
33 ywnwywpnipjwh 2003 pywlwth
ntywntidptiph 24-h N 1890-U npn2dwh

Suuvy

3U3UUSULP ULNrUMESNHE3UL UPUGUSNSLP UUM2k YULULUTELP G3NF1ULUUL
IUUUSLRP 4UMULUUL UURUULLEMNFY 4SLYNT’ MESULUL UsouuuLNHI3NEL
3uLnhUUSNA INNGNrPS YUPUPUTELP A3NFIULUL 3UUUSLRPL ULIUSNE3S

onluULsdna INGNrk
Qyninuninbuwlwb Gpwlwynipjwl hnntipp S
c
&
=
wnwinni fuwnnnh wj §
Ganwagéh hwiwpp | Jwpbiwhnn wjgh wygh funmnhwpp| wpnwn hnnuwinbupbp g
3
10
1 2 3 4 5 6 i 8
| ublghw
2 220.90
3 0.09
5 1.45
11 0.29
14 3.52
26 3.93
33 0.34 .
34 45.79
40 0.10
42 0.03
43 1.97
45 0.69
47 : 0.10
63 1.19
65 2.62
66 : 0.18 [
67 0.13
68 1:52
87 0.82
94 : : 0.06
101 : 0.03
105 0.02
110 i 0.02
111 219.62
113 0.30 )
115 : i . 0.03
116 ) 0.05
123 0.17
129 2.01
130 5.27
132 0.34
133 0.03
141 0.07
148 X 0.05
159 25.59
160 0.17
161 0.15
162 0.11
170 0.11
173 22.39
174 1.20
175 12.01
176 4.25
183 215.87
184 3.98 '
189 0.14
192 i 0.22




N 3 hwybwdh ywpniGwinipnibp
1 2 5. 6. A 8.
193 0.08
195 1.10
186 0.39
197 0.19
199 0.02
204 0.26
206 0.05
217 0.15
221 0.1
223 0.95
225 0.07
228 0.26
233 11.75
pGnwiklp 27.11 779.19 9.00
1l ublghw
2 0.03
12 0.07
22 0.06
30 0.06
38 16.01
47 117.32
48 5.85
57 4.61
58 9.44
61 11.45 .
68 19.15
73 0.03
74 0.13
75 0.19
76 0.18
71 0.54
79 0.17
81 ' 6.00
96 23.61
101 8.90
103 - 8.00
104 17.25
105 0.50
113 0.21
114 0.15
115 0.13
116 0.10
117 0.10
118 0.13
119 0.09
120 0.06
121 0.11
122 0.08
123 7.76
124 241
128 ) 9.85 nwan. Swlwwwph
pGnwdtibp 2.90 211.29 56.54
Clnwuklp 30.01 990.48 - 65.54

Jwjwumnwbh Iwbpwybnnipjwb
Ywrnwywpnipjwl wfuwmnwywqih

n&ywywp-twfuwpwn

U. @nthniqjw




Rwydbjwé N 4
33 Ywewywnnepjwl 2003 pwlwih
nblwnbiptph 24-h N 1890-U npnzGwd

guuvuy

3USUUSULP IULPUMESAHE3UL UPUGUSNSLP UUM2P YUPULUTELP G3NF1ULUUL
3UUUSLEP 4UM2UUUL UUIUULLEPNFY GSLUNN MESULUL UEOULULNHBSAEL ULAhUUSNI 3N161hS
LUPUMUTELP G3NFIULUL UUUSLLPL UL3IUSNFSS oNhulL8dna IN16rh
(PUS LMUSULUSPL LTULULNF@SUL)

il I v v i Vil Vil iX
g = 5 5 " 5 L
3 35 |§3 B35{SEETSE cE EX 2 £ 5 g
£ ¢ |£5 JIeE|ZEEES 8 gu S =) 3 3
£ %_g 3§§§§§ €552 | 538 | =5 g 5 3 §
g | 8 |253323|gSgigs| £22 |ES5| £ | 4 £ 3
5 ks Egs  22%|gc382% 333 | 32| S 3
o S 38l s5S5est #3565 o [
1 2 3 ’ 4 5 6 7 8 9 10
| ublghw
55 1.00 wpwn. dwu.
134 Q.75 A
135 1.67 . - lyhnGbp Gwdpwp
137 0.11 opwiquil
plnwdtlp 1.00 0.75 1.67 0.11
Il ublyghw
27 1.81 qbpbquwling
112 0.08 hh(i gbptiqiwling
125 0.51 abipbqdwling
plnwdkhn 2.40
11l ublghw :
2 8.47 mnq.;gﬁtzn,pwubn,hnuxu,",
3 4.35 wpw. dwu.
4 0.03 ) qnupwwbrwpwlh wwpwsp
5 0.17 ) wpn. Jw.
6 0.05 thnuwn
8 0.01 b GOpwywywb
9 0.007 tlbntigh
10 0.04 |Gy
1 0.41 hnpwpdwl
12 0.06 pnudaytin
14 0.28 “Nhan” gapawpwi
15 0.02 huwilineg
16 0.15 ginunuiwbnwnwl
17 0.04 wintidp
18 0.41 (Gl
19 1.35 ) wpn. Gwu.
20 18.49 w( hnntip
plnwitlp] 27.26 6.15 0.06 0.417 0.45
COnwitap 27.26 7.5 0.81 4.487 0.56 °

Jwjwunwbh Jwlpwwbinnepjw
yuwowywpnipjul wfuwnwlywqip

nthwyuwp-Gwfuwpwp U. @nthniqyub




Swybywé N 5
33 ywnwywpnipjwl 2003 pywlwlh
nbiyunbdptph 24-h N 1890-U npnzdwb

ULy

IUSUUSULP IULPUMGSNE@3SUL UPUIUSNSLP UUM2P YUPUPUTELP G3NFIULUL
JUUUSLEP JUMULUL UURUULLEGANFU GSLYN MBESULUL UsouuwULNH@3NFL 3ULthuUSNi 3ne6rh
(CUS LMUSULUSPL LTULUUNFEB3UL)

1l 1 v \4 \4 Vi Wil 1X
£ = S- e = =
=3
£ 3 S35 £c | 2 = - g
g = |52 gei8s| €2 | & £ 2 = 5
= = 2 %_3. e SEg¢e 2 E = c e B
3 5 gz El£53¢ T 3 = £ & =
E 5§ |5282=l32%2| §E | ¢ 5 2 2 g
= T |§352525¢E5| 33 | & g 5 | s
& 3 |8g558 s358| 58 = = g £ F:
o 2 2£35/8555 =3 = 3 o £ =3
- £ |BE3SSiE=2s| SE |-BE | B é s
s SelENeSeg AE B 3
1 2 3 4 5 6 4 8 9 10
| ublghw
136 l l l l l 57.69 I Iwﬂmum
Il ublyghw
126 0.61 swnq. 7. Swlwwy.
127 155 dwipq. 6. wlwy.
1]
plnwuibklp 2.16
I ublghw
7 0.07 hnLpwndwi
13 3.65 0.07 nwpng
LOnwatGp | 3.65 2.16 0.07 57.69 | -

Swjwunwbh Iwbpwybnnipjwb
Juwrwywpnipjwl wfuwnwywqih

ntywywp-Gwhiwpwp U. @nithnigjub




Swybjwé N 6
33 Yunwlwpnipjwl 2003 pYwlwth
ntywnbidptiph 24-h N 1890-UL npntwl

222
IUCJdESUNFEFB@3NEL

3U3UUSULP 3ULMPUMEGSNH@3UL UPUAUSNSLP UUM2P YUPUPUTELP G3NFIULUL
3uuusLer INQU3PL HNLAR UNLUSNFESUL b4 AUTUUUL UUUPL' 2003 @YUUULP UTMPPLE 20-h APNFRSUUR

(hGyuwpGlpny)
[ UbhwiwGnepjwl unipjiin
- a § hwidwGpwihG wanwlwl 4 =
§ € § s £ fr': E §‘
gl 3! 8| 2| 57 |e.lg |sg| § |2.]¢ (=2 |258i¢
NN . Inquantupp. gapownwywl g z § El !Jé § g a- ] % e § § ?; 3 %_o ,ES‘ E g :g
o 3 Gywlwynipynilp § = g g % ﬁg -;_'.3 Egé é §§ §§' 3;%_2, ‘%%gé‘.ég
5 b} = 2 S 3 EX g g El2cdg 3 3
3 i | 5] 8 |géd|3s ~”§s§§§~°g§a
g F |1 aggzgi IR LIR L R E
3 -4 Ed
&) T T Z 3 L3 5 5 7 k3 ) 0 ™ 12
1.1. Jwpbjwhnn 260.3 | 230.3 30.0
1.2 [pwgd nGlh, pinwd
1.2.1 wjn pyntd wthnwnnt
122 fuwnnnh wigh
1.2.3 W) puquwsjw
1.3 funinhwpp 32.3 32.3
1.4 & wpnun 990.5 990.5
15 - wj| hnqwwbiuptip 65.5 65.5
1 Unwatlp 1348.6 | 262, 1086.0
2.1 plwyb b bwenig 85.6 85.6
1213 w)n pUnid’_inGwikpd 85.6 | 85.6
212 wjgliq-0 (wdwn-g)
2.2 hwuwpwl Ywnnig 3.9 0.3 ) 3.6
2.3 3 fuwnp Yuwinniguiw
2.4 g nnh oquwgnpd 8.5 8.5
2.5 o w;| hnnbp 18.5 18.5
2 witlp 11651 856 2.3 36
3.1 &5 = = wnnynibwpbpwlwl 0.3 0.3
2] % § 33 5[ qninnl. wpinwn 6.8 6.8
33 |2 2 &4 E, wwhbutwpwitph
34 Fg-f:‘g_ 2 [pOnEpp-ogunuwignpl.
s ] SEE§E° nGnwaklp 7 = 7:1
| 41 1. € g =[tbbpgtinplugh 0.7 0.7
s218 £< £ [Qwuh 0.1 0.1 :
3 €5 23 5 [npwluwnpinh 2.2 2.2 q
aa |E>37 2 [(ndnih Gapwywn
4a 15 5 > [pUnwdkhn 3.0 038 2.2
5.1 [p0wwwhuwwl
511 - i punLd_ wpahlinglh
512 ZE] wnabjwdwpbn
513 §§ wgguwip “ﬁ”“ﬁ”
5.2 ] wnnnpwpwpwWyw
5.3 @ 3 hquumE 1.7 7
5.4 wwwnl, b Gpwlnip. 2.9 2.8 0.1
5 nOnwdkln 4.6 4.5 0.1
6 § §- plnwdatlp
e SE
7.1 wlivnwn
72 2 pthnin
7.3 3 Jwnbjwhnn
74 g hunwnhwnp
7.5 = wpnu
7.6 ~ wj| hnnkp 57.7 57.7
7 UnwdkOp 57.7 517
8.1 gbunkip 5
8.2 2 opwidpwnObp 0.1 0.1
83 E) 166p 0.4 0.4
84 o opwGgpltn
8.5 © hnu. L op. wyj op.
8 nOnwdtop 0.5 0.5
9.1 3 wnnunbbp
52 B wywgnunGep
93 H Swhhslbp
9.4 %
9.5 € w)| wlhogquwgnnotiih
9 o Clnwdthp
QUAUUELO 3G (1+2+3+4+5+6+7+8+9) 1538.0 | 348.2 1126.2 63.6

Jwjwutnwbh Iwbpwwbnnipjub
Yuwnwywpnipjul wluwnmwywqih
nEYwywp-Gwhiwpwp ' U. Bnthnigju



Jwdbywé N 7
33 Ywnwywpnipjwl 2003 pywlwbh
nbklywntdpbph 24-h N 1890-UL npn20wh

2k 22w
FUCd4ESdNFEFE®3NETDL
3U3UUSULP IULPUMESNHESUL UrUgUsNSLk UUr2k 4yururUTELP 33NFULYUL IUUUSLLR
nnnadnn IN6rk UNYU3NHA3UL 64 PUTUUUL UUUPL
UbthwlwGnipjw untpjtlnp
= & o - 2 o
NN ol E g ancumwxwﬂ Oziucwqmp;mng, g_ n:nqd,nq - = " ‘5 3 g g_ 'E’.? gn_ 5 2 %S
£3 nqwwnbupp 3 nntip r3 mag T g -‘éagﬁ_&gg_:
3‘5 g (2+3+4+5+8) §- _g, 3] 3 2 g ] 3E3F ¢ &
S & 5 3 3 <] g gg = —‘!a't":
o = R B
u e q 1 2 3 4 5 6
14 Jupbiwhon
12 3 pwqiwdjw wGlwpyltip, plnwdkGn
1.21 § wyn pynud’ wnnwwnnt wjgh
12,2 € fuwnnnp wjgh
123 T fup
1.3 % tunwhwipp
1.4 g. wpn
15 ~  {wj| hnnwwnbuptip
1 plnwitibp (1.1+1.2+1.3+1.441.5)
2.1 o {pCwybih Junniguwuwiniws 80.0 80.0
2.1 5 {wn pYnid nbwdtipd hnntip 80.0 80.0
2:12 % wygtignpdwlwi (wiwrwlngwshG)
22 3 plnhwlnip oginwgnpdtul
2.3 g wj hnntip )
2 ponwdsap (2.142.242.3) 80.0 80.0
3 3. Upnnibwpbpnipyw(, pbntippogquuwgnpéiwi, b
4 4. tObpgtinhywih, tipwuwnpnh, Juwh b
5 5. Jwwnny wwhuwbynn twpwdédplbph
6 6. Jwnniy Gauwlwlynipjwl
7 wlitnwn
7.2 2 pthnun
7.3 g? Jwpbjwhnn
7.4 g funtnhwnp
7.5 5 wpnn
7.6 ~ jwji hnnbp
7 plnwibklp 7.147.2+7.3+7.447,5+47.6)
8  |8-2puwyht
9 9. Mwhnwunwih
LLAUUELE NANGUNN NG (1+2+3+4+5+6+7+8+9) 80.0 80.0

Swjwunwbh Iwbpwwybnneppub
Yuwnwywpnipjul wluwnmwywqih
nEywywp-Gwhiwpwp U. @nthniqjul



	scan
	scan0001
	scan0002
	scan0003
	scan0004
	scan0005
	scan0006
	scan0007

